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1. D Shape, Rotation, Position

Looking vertically, first, lines are added to the shape, then the shape is rotated 90

degrees clockwise. It can't be B because the small line is at the end of the line.

2. A Shape, Rotation, Counting

Looking horizontally, small lines are being added to the end of the longer lines.
Also, first a square is added, then this is replaced with four stars. In B, the shape
has been rotated which is not correct. In C, there are not enough little lines, and in

D there are too many little lines.

3. D Shape, Counting
Looking horizontally, the shapes in the first column are added to the shapes in the

third column. It's not A because that does not have enough large circles.

4. C Shape, Position
Looking vertically, the number of lines in the first row is added to the number of
lines in the second row, giving the number of lines in the third row. The lines

remain in the same position.

5. B Rotation, Counting
Looking horizontally, the shape is rotated 90 degrees anticlockwise and a line is

taken away each time.

i1
a1 g - RS

Copyright Key Stages Online Ltd - www.ksol.co.uk



41+

4 - kaodee uk o ok

Lt
VR ey giages ki

\oL A
i '.1-.1.1"-'"‘ o

I|_l||.l.lI

, .,;LSXIE 'G'ﬁd’S - oy 5129° » OF Answerssg'*

18 akk
] nv-.'-l.'l""““'Ill L al n-.-'|'u_'u-'l'=‘*“" 802
ooline * okl

oy

C Position, Shading
Looking horizontally, one shape is being shaded in black each time. Also, the small
shapes are moving clockwise around the box by the same amount each time. It can't be

A as the stars are not in the correct position, they have been rotated.

7. CShape
Looking horizontally, the shape in the first box is added to the shape in the third
box. Another way to think about this is that the shape in the first box is taken away

from the shape in the second box.

8. B Shape
Looking horizontally, the shape in the first box is added to the shape in the third
box. Another way to think about this is that the shape in the third box is taken

away from the shape in the second box.

9. D Shape, Position
Looking vertically, the shape in the first box is added to the shape in the second

box. It is not B because some of the dots are inside the little square..
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